DWT'® DS-150 KS

DATE:20170201

*-127V No.:130827 127V
*»*-.230V No.:120828 230V



User
Текст
DS-150 KS


DS-150KS

Pos.No. Part No. Description Qty Remark
1 5001341700101 |Wheel ©125x16x212.7 A-60PV 1
2 5001341700201 |Name plate of wheel A-60PV (2)| 2
3 5001341700301 |Wheel ring (4) 4
4 5001341700401 |Nut M12 1
5 5001341700501 |OQuter cover @125 (2) 2
6 5001341700601 |Screw M4x45 (6) 6
7 5001341700701 [Right inner cover @125 1
8 5001341700801 |Middle ring B34 @125 (2) 2
9 5001341700901 [Nut M5 (5) 5
10 5001341701001 [Spring washer @5 (18) 18
11 5001341701101 [Eye shield typ A (2) 2
12 5001341701201 [Washer @5 (10) 10
13 5001341701301 ([Screw M5x45 (2) 2
14 5001341701401 [Spring washer @4 (6) 6
15 5001341701501 [Nut M4 (6) 6
16 5001341701601 [Screw M5x10 (8) 8
17 5001341701701 |Eye shield bracket typ A (2) 2
18 5001341701801 [Name plate 230V 1
19 5001341701901 |Stator middle ring 1
20 5001341702001 [Screw M5x35 (2) 2
21 5001341702101 ([Screw M6x12 (2) 2
22 5001341702201 [Base 1
23 5001341702301 [Switch bracket 1
24 5001341702401 [Rubber bush @35 (2) 2
25 5001341702501 |End cover (2) 2
26 5001341702601 [Ball bearing 6002.Z (2) 2
27 5001341702701 [Left inner cover @125 1
28 5001341702801 [Rotor 1
29 5001341702901 |[Knob nut M6 (2) 2
30 5001341703001 [Spring washer @6 (2) 2
31 5001341703101 [Washer @6 (2) 2
32 5001341703201 [Right tool rest 1
33 5001341703301 |Stator 230V 1
34 5001341703401 |Cord nut 1
35 5001341703501 |Cord adapter 1
36 5001341703601 |[Cord protector 1
37 5001341703701 |Screw M5x16 (5) 5
38 5001341703801 |Screw M4x6 (2) 2
39 5001341703901 |Switch 230V 1
40 5001341704001 |Terminal 1
41 5001341704101 |Base plate 1
42 5001341704201 |Screw M5x6 (4) 4
43 5001341704301 |Condenser 2.5uF 230V 1
44 5001341704401 [Left tool rest 1
45 5001341704501 |Rubber foot (4) 4
46 5001341704602 |Cord 230V 1
47 5001341704701 |Name plate of wheel A-36PV (2)| 2
48 5001341704801 |Wheel ©125x16x012.7 A-36PV 1
49 5001341704901 |Nut M12L 1
50 5001341705001 |Washer @4 (12) 12




	DS-150KS Exploded drawing-BD
	DS-150KS
	DS-150KS组合 1
	DS-150KS
	DS-150KS
	Sheet1







